3ab? — 15a’b & JATENTF A7

@ abla-b) @ 3a(b? - b) @)3ab(b - 5a)
@ ab(a+ b) ® 3a*(b* - 5b)

3ab® — 15a*b = 3ab(b — 5a)
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@ (x+y)(x-y)(x+1)
® (x+1)y-1(x+y)
® (-1

@ (x+1)(-yo-1)
@+ 1)x-1)r-1)




@a+1

® x+a @ x+1

@ x-a

a

‘ x(a*-1)

x(a+1)(a-1)




S % 927ax? — 12ay? = HIEA A5E5] g A

©9
aLs N e

@ (3ax - 3y)* @ 32(3ax - day)?

® 3a(3%ax — 4ay)? @3a(3x + 2y)(3x = 2y)

® 3(9ax? — 4ay?)

27ax? — 12ay® = 3a(9x — 4y?)
= 3a(3x + 2y)(3x — 2y)




(x+4)*-3(x+4) & d+Eofistd?

@ (x+4)(x-1) @ (x-4)(x+1) @ (x-7)(x+4)
@e+96+1) O x-Nx+1)

(x+4)2-3(x+4)=(x+4)(x+4-3)
=(x+4)(x+1)




® xy(x-y)

X3y —xy? = xy(x® - y?) = xy(x + y)(x - y)




(x+2)? = (x=1)(x+2) & HA7Hote] ko] UEp?

D 2x2+4x+6 @ 2x% —4x
@3x+6 ® 3x-6

® x2-7x+2

EN=(x+2){x+2-(x-1)}
:(x—|—2)>(3=3x+6




@ (x-y-1)(x+y+6) @ (x-y+1)(x-y-6)
® (x+y+2)(x—y-3) @ (x-y-2)(x+y+3)
@) x-y-1(x-y+6)

B

x—y=r1r & o,

t(t+5) —6=1>+5t-6
=(t-1)(r+6)
=(x-y-1)(x-y+6)




(a+b)(a+b-3)+2E UT=olotH (a+b-m)(a+b—-n) A,
m—+n ] gF27?

@ 2 @3 ® 6 @ 11 ® 16

B

a+b=r12}5H4A,
t(t-3)+2=1>-3t+2
— (1-1)(-2)
=(a+b-1)(a+b-2)
Wb m 40 =142 = 3 O|k.




10. (x—2y)(x-2y-3)-10< I5E35H4A

@_10 @ 3 ® 10 @ 2

B

x-2y =1 2ok,
t(t=3)-10 =12 -3t - 10
= (t-5)(t+2)
=(x-2y-5)(x-2y+2)
om=-5n=2

C.mn = _10




11. (2x+1)*=(x-2)* = Bx+a)(x+b) & W, a+3b 9] L& FstH?

® 4 @ 6 @1  @s ® 9

B ,

2x+1=A4, x—2=B= X3}4A
(2x+1)% = (x - 2)?
=A?2-B>=(A+B)(A-B)
=2x+14+x-2)(2x+1-x+2)
— (3x—1)(x+3)
La=-1,b=3
La+3b=-1+9=8




12.

ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




13.

Y a2 a? - x 1 & AFRABE 1), ofe) BAeIA T A5t
=]
=

B7]
@ x*+1 © x-1 © a+1
® x-2 @ a-1
® 9,0, 0 @ O, 3)O,®, ®
@ @0 ® ©, 6,06

a?x-a?-x+1=a*(x-1)-(x-1)
=(a+1)(a-1)(x-1)




14.

x? = 2x—y? + 2y B JAFESfSAHY
(x+ay)(x—=by +c) 7F E1Ath ot a + b + ¢ 9] 222

a-2x-y?+2y=x2 -y -2(x-y)
= (x+y)(x-y) - 2(x-)
= (x-yx+y-2)
Ot a=-1,b=-1, c=-29B2 g+ b+c=—-4




@x(x -6)

@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)




16.

(x+4)2-2(x+4)- 159 x9] Al7H1 Q1+

2o o), F aA4e] e

@2x+6 @ 2x-6
@ x*+6 ® 6

QAo Fo

® 2x+8

o
hi)

B

x+4— 18 A5sE

2-2t-15=(t-5)(t+3)
=(x+4-5)(x+4+3)
=x-1Dx+T7)

Sx-1)+(x+7)=2x+6




17 E}_Go]-/gl (a+b)2—(a+b)a_2a2_%q_—gg_/4
42 the ol n2w)
® (2a-10) @(b—a)
@(Qa—}—b) ® 2a

(x=2a)(x+a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




18. o3 x2(x+3)2-22x(x+3)+ 727} (x +a) (x + b) (x +¢) (x + d)
2rEl D W, a+b+c+d G2

-1 ©-2 0-3 @1 B

B

x+3 =12 g5

£2x% — 22tx + 72

= (tx—4)(tx - 18)

= (x?+3x-4)(x +3x - 18)
=(x-1D(x+4)(x+6)(x—-3)
“a+b+c+d=-14+4+6-3=6




19. —8-7a(a-2)+a*(a-2)"=(a+A)(a+B)(a+C)(a+D) 2L
g, A+B+C+D & Fotoiet

[
H -

| 2
> met: 4

od -

= at)?
= (at—8) (ar+ 1)

= (a2—2a—8) (a2—2a+1)
=(a-4)(a+2)(a-1)°
=(a-4)(a+2)(a-1)(a—-1)

S A+B+C+D=(-4)+2+(-1)+(-1)=-4

a
a
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20. (a+b)(a+b+3)+2E AFES

® (a-b+1)(a-b+2) @(a+b+1)(a+b+2)
® (a-b+1)(a+b+2) @ (a-b-1)(a—b-2)

® (a+b-1)(a+b-2)

B

a+b=A 2 gs}IH

(F4) =A(A+3)+2
=A% +3A+2
=(A+1)(A+2)
=(a+b+1)(a+b+2)




A=V3++V2 B=V3-12
A])
A2 -B2? = (A +B)(A-B)

(V3+ V24 V3- v2)(V3+ V2- V3+ V2)
(2V3)(2V2) = 4V6

=
e

—




22, wy-x+y-1=(x-a)(y+b)7t AT W, a + b 9] k= 751
2h(2, b <0)

y-1=x2 Agai
xy—x+y—-1=xX+X=X(x+1)

=@x+1) (-1
La+b=-2




23. ab+5a~-4b-30 = 0 & WEoh= J= a b 2 #& Fotei=t
(Fha>0,b>0)

> E

v V V¥
0
L
Q
I

0
]
S
Il

o

B \

ab+5a—-4b—-30=0
a(b+5)—4(b+5) +20-30 =0
(a-4)(b+5)-10=0
(a-4)(b+5) =10
a>0,b>0°22 p4+5>5
a-4=1,b+5=10
La=b=5




24, (x-2)(x=-3)(x-4)(x-5)+1=(*+ax+b)> L W, a, bO| F=
T-stofzt,

> E:
>
> H e a=-7
> ®HE p=11

B

(x=2)(x=3)(x—4)(x—5)+1
= (x> -Tx+10)(x2 - 7x+ 12) + 1
A= x%*-Tx2 A &olH
(A+10)(A+12)+1 =A%+ 224 + 121
= (A+11)?
= (x*-Tx+11)2

wetA] g = -7, b= 11°|t}.




25. (x+y+2)? - (x-y-2)"Z AZoliora?

@© 2x(y+2) @ 4x(y-2) ® x(3y+2)
@4x(y +2) ® 4y(x+2)

B

x+y+2=A, x-y-2=Bg5IH

A2 -B?=(A+B)(A-B)
=(x+y+2+x-y-2)(x+y+2-x+y+2)
=2x(2y +4) = 4x(y + 2)




26. (a+2b)2-252 = (a+ | b+ | o)at |- o)A ]

oFell e 58 A2 A oler.

> E

v
n

i

02
o
)

02
]
)

02
il
37

v Vv VvV VvV vY
0
i

(a+ 2b)% — 25¢2
= (a+ 2b)% - (5¢)?
= (a+ 2b+ 5¢)(a+ 2b - 5c¢)




(FA) =(x-3+y+3)(x-3-y-3)
=(x+y)(x-y-6)
X+ y+x—-y-6=2x—-6




28. x? - 9y® +4x + 12y T ASESSHH (Ax+ By) (Cx+ Dy +4) 7}
HhT A} A+ B+ C + D 9] gk Fatolet

> E:

> ™Heh: 2

(FA1) = (x—3y) (x+ 3y) + 4 (x + 3y)
= (x+3y) (x-3y+4)
CA+B+CAD—=143+1-3=2




29. x4+a=2 x-a=7T24 W x*-a®+ax®-a*x=?

® 14 @ 20 ® 24 @28 ® 32

=(x+a)(x+a)(x-a)
= (x+a)*(x-a)
=22x7=28




30. A xy+bx—ay-ab & J5-ES|oHAH?

D (x-a)y-b) @E-ab+b) O (x+a)y-b)
@ (x+a)(y+b) ® (x-b)(y-a)




31, 2(x+2)2+ (x+2)Bx—-1) - (Bx-1)? = —(ax + b)(cx +d) & T,

ab + cd & = Y (H, 4, c = FF)

@1 o3 ® 0 @ 2 ® -2

B )
x+2=A, 3x—1=B= X|&slH

2A% + AB-B? = (2A-B)(A+ B)
=(2x+4-3x+1)(x+2+3x-1)

=—(x-5)(4x+1)

sab+ed=1x(-5)+4x1=-1




32. O3 F 5?2 - x%y—-x? +xy 9 A5=?

@x—l @ x+1 @ y+1 @ x+y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)




2x+2)2 +2(y-3)2 ol 71 T
33. C190-3) =4 4 o, x—y 9 & Foltofet

[
= ]

>
> AP x—y=-5

&8

x+2=X, y-3=Y & X&o}H
2x+2)2 +2(y-3)?  2x>42r?
(x+2)(y-3) XY
2X%2 —4XY +2Y? =0, (X-Y)? =0
X-Y=x+2-y+3=0

L x-y=-5

4




